



故物体運動の方程式は、 $y = kx(x-2a)$, $m = k a(-a)$, $k = -\frac{m}{a^2} \neq 1$

$$y = -\frac{m}{a^2} x(x-2a)$$

$$S_m = -\frac{2m}{a^2} \int_0^a (x^2 - 2ax) dx = -\frac{2m}{a^2} \left[\frac{x^3}{3} - 2a \frac{x^2}{2} \right]_0^a = -2m \left(\frac{a}{3} - a \right) = \frac{4am}{3}$$

$$2a+1+m + 2 \sum_{x=1}^{a-1} \left\{ -\frac{m}{a^2} x(x-2a) - 1 \right\} < L_m \leq 2a+1+m + 2 \sum_{x=1}^{a-1} \left\{ -\frac{m}{a^2} x(x-2a) \right\}$$

$$2a+1+m - \frac{2m}{a^2} \left\{ \frac{1}{6}(a-1)a(2a-1) - 2a \frac{1}{2}(a-1)a \right\} - 2(a-1) < L_m \leq 2a+1+m - \frac{2m}{a^2} \left\{ \frac{1}{6}(a-1)a(2a-1) - 2a \frac{1}{2}(a-1)a \right\}$$

$$3+m - \frac{m}{3a}(2a^2-3a+1) + 2m(a-1) < L_m \leq 2a+1+m - \frac{m}{3a}(2a^2-3a+1) + 2m(a-1)$$

$$3+m - \frac{2}{3}am + m - \frac{m}{3a} + 2am - 2m < L_m \leq 2a+1+m - \frac{2}{3}ma + m - \frac{m}{3a} + 2am - 2m$$

$$\frac{4}{3}am - \frac{m}{3a} + 3 < L_m \leq \frac{4}{3}am - \frac{m}{3a} + 2a+1$$

$$\frac{3}{4am} \left(\frac{4}{3}am - \frac{m}{3a} + 3 \right) < \frac{L_m}{S_m} \leq \frac{3}{4am} \left(\frac{4}{3}am - \frac{m}{3a} + 2a+1 \right)$$

$$1 - \frac{1}{4a^2} + \frac{1}{4am} < \frac{L_m}{S_m} \leq 1 - \frac{1}{4a^2} + \frac{3}{2m} + \frac{3}{4am}$$

$$\lim_{m \rightarrow \infty} \left(1 - \frac{1}{4a^2} + \frac{1}{4am} \right) = 1 - \frac{1}{4a^2}, \quad \lim_{m \rightarrow \infty} \left(1 - \frac{1}{4a^2} + \frac{3}{2m} + \frac{3}{4am} \right) = 1 - \frac{1}{4a^2} \neq 1 \quad (\text{挟み定理}) \quad \lim_{m \rightarrow \infty} \frac{L_m}{S_m} = 1 - \frac{1}{4a^2}$$